Bid #OPN2115484B1 - Traffic Signals and Accessories

Creation Date Nov 3, 2017 End Date Dec 11, 2017 2:00:00 PM EST

Start Date Nov 27, 2017 1:41:31 PM EST Awarded Date Not Yet Awarded

OPN2115484B101-01 Mast Arm Signal Arm Ki	t				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Transportation Control Systems, Inc.	First Offer - \$38.00	150 / each	\$5,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: PELCO Product/Part No.: AB-4005-SS Warranty Offered: 2 YEARS Delivery Days: 30 FDOT Certification No.: 659-031-011			
OB Traffic	First Offer - \$42.16	150 / each	\$6,324.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: N Product/Part No. Warranty Offered Delivery Days: 6-8 FDOT Certification	lanufacturer Offer : AB4005-SS-PNC : 12 months BWeeks	ed : Pelco	
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$43.00	150 / each	\$6,450.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certificatio STANDARD ARM KIT,	lanufacturer Offer : AB-4005-SS : 2 years No.: 659-031-011	ed: Pelco	

OPN2115484B101-02 Mast Arm Camera Mour						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Transportation Control Systems, Inc.	First Offer - \$170.00	30 / each	\$5,100.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:	Supplier Notes: I	Manufacturer Offe	red: PELC	O		
			: SP-1114-FL-48-120-S	SS-PC		
		Warranty Offere				
		Delivery Days: 60				
			on No.: 659-035-004			
			DIFFERENT PART NU			
		ASSOCIATED WITH	F.D.O.T. APL NUMBER	-		
OB Traffic	First Offer - \$175.00	30 / each	\$5,250.00		Y	
Product Code:	·	Supplier Product	Code:			
Agency Notes:			Manufacturer Offer	red : Pelco)	
		Product/Part No.: AS-0169-74-120-PNC				
		Warranty Offered: 12 Months				
		Delivery Days: 6-				
		FDOT Certification	on No.: NA			
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$178.50	30 / each	\$5,355.00		Υ	
Product Code:		Supplier Product	Code:			
Agency Notes:		Supplier Notes: Manufacturer Offered: Pelco				
	Product/Part No.: AS-0175-48-120-SS-PC					

Warranty Offered: 2 years

Delivery Days: 60

FDOT Certification No.: 659-035-004

CAMERA BRACKET, 1 PC STELLAR, 48" TUBE, 120" SS CABLE, ALUM

OPN2115484B101-03 Gusset Tube 48 inch wi		Otra/III a It	Total Date:	A a a - I-	D		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Transportation Control Systems, Inc.	First Offer - \$27.00	100 / each	\$2,700.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes: Manufacturer Offered: PE			0		
		Product/Part No.	: AB-2003-48				
		Warranty Offered	I: 2 YEARS				
		Delivery Days: 30					
		FDOT Certification	on No.: 659-031-011				
	11		<u> </u>	1	ī		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$31.50	100 / each	\$3,150.00		Υ		
Product Code:		Supplier Product	Code:				
Agency Notes:		Supplier Notes: Manufacturer Offered: Pelco					
		Product/Part No.	: AB-2003-48				
		Warranty Offered	I: 2 years				
		Delivery Days: 60					
		FDOT Certification					
		48" GUSSETED TUBE	T.O.E. W/ VINYL INSER	lT.			
	Π						
OB Traffic	First Offer - \$35.00	100 / each	\$3,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes: Manufacturer Offered: Pelco					
		Product/Part No.: AB-2003-48-PNC					
		Warranty Offered: 12 Months					
		Delivery Days: 6-8					
		FDOT Certification					

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Transportation Control Systems, Inc.	First Offer - \$43.00	50 / each	\$2,150.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: PELCO Product/Part No.: AB-2003-74 Warranty Offered: 2 YEARS Delivery Days: 30 FDOT Certification No.: 659-031-011			
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$46.25	50 / each	\$2,312.50		Υ
Agency Notes:		Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certification	lanufacturer Offer : AB-2003-74 : 2 years days		
OB Traffic	First Offer - \$48.00	50 / each	\$2,400.00		Υ
Product Code: Agency Notes:			lanufacturer Offer : AB-2003-74-SS-PNC I: 12 Months	ed : Pelco	

FDOT Certification No.: NA

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Transportation Control Systems, Inc.	First Offer - \$93.00	200 / each	\$18,600.00		Υ
Product Code: Agency Notes:		Product/Part No. Warranty Offered Delivery Days: 30	Manufacturer Offe .: SP-1079-FL-120 d:2 YEARS	red: PELC	00
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$104.50	200 / each	\$20,900.00		Υ
Agency Notes:		Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certification	Manufacturer Offe .: SP·1079-FL-120 d: 2 years		0
OB Traffic	First Offer - \$105.00	200 / each	\$21,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I Product/Part No. Warranty Offered Delivery Days: 6- FDOT Certification	Manufacturer Offer .: SP- 1079-FL-120 d: 12 Months 8 Weeks	red : Pelco	0

OPN2115484B101-06 Mast Arm Signal Mount			1			_	
Supplier	Unit	Price	Qty/Unit	Total Price	Attch.	Docs	
Transportation Control Systems, Inc.	First Offer - \$	137.00	25 / each	\$3,425.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer Offered: PELCO Product/Part No.: SP-1118-FL-120-PNC Warranty Offered: 2 YEARS Delivery Days: 60 FDOT Certification No.: 659-031-019				
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$	147.00	25 / each	\$3,675.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer Offered: Pelco Product/Part No.: SP-1118-FL-120-PNC Warranty Offered: 2 years Delivery Days: 60 days FDOT Certification No.: 659-031-019 ASTRO-BRAC CLAMP, ATLAS ARTICULATING 120" SS CABLE				
OB Traffic	First Offer - \$	165.00	25 / each	\$4,125.00		Υ	
Product Code: Agency Notes:				Manufacturer Offei : SP-1118-FL-120-PNC d: 12 Months 8 Weeks		0	

	•		i ago	7 01 10		
OPN2115484B101-07 Mast Arm Sign-Brac Tu	be with 18 inch CT	C Kit, Aluminum				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Transportation Control Systems, Inc.	First Offer - \$30.00	50 / each	\$1,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Product/Part No. Warranty Offered Delivery Days: 30 FDOT Certification	Manufacturer Offer : AB-0507-18-PNC I: 2 YEARS	ed:PELC(0	
OB Traffic	First Offer - \$31.50	50 / each	\$1,575.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Pelco Product/Part No.: AB-0507-18-CTC-PNC Warranty Offered: 12 Months Delivery Days: 6-8 weeks FDOT Certification No.: NA				
Airport And Commercial Equipment Suppliers, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$32.50	Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certification	Manufacturer Offer : AB-0507-18-PNC I: 2 years days		Y C DIM,	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Transportation Control Systems, Inc.	First Offer - \$30.00	50 / each	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certification	lanufacturer Offer : AB-0507-24-PNC I: 2 YEARS	ed:PELC(0
OB Traffic	First Offer - \$32.50	50 / each	\$1,625.00		Υ
Product Code: Agency Notes:			lanufacturer Offer : AB-0507-24-CTC-PNC I: 12 Months B Weeks		
Airport And Commercial Equipment Suppliers, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$32.50	Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certification	lanufacturer Offer : AB-0507-24-PNC : 2 years days		

OPN2115484B101-09 Mast Arm Sign-Brac Tube with 30 inch CTC kit, Aluminum						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

	. Ocumy C	01111111001	raye 3 01		5 01 13	
OB Traffic	First Offer -	\$35.00	50 / each	\$1,750.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer Offered: Pelco Product/Part No.: AB-0507-30-CTC-PNC Warranty Offered: 12 Months Delivery Days: 6-8 Weeks FDOT Certification No.: NA			
Transportation Control Systems, Inc.	First Offer -	\$35.00	50 / each	\$1,750.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: M Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certification	Manufacturer Offero : AB-0507-30-PNC I: 2 YEARS	ed:PELCC)
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer -	\$38.25	50 / each	\$1,912.50		Υ
Product Code: Agency Notes:			Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certification	lanufacturer Offero : AB-0507-30-PNC : 2 years days		C DIM,

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
OB Traffic	First Offer - \$270.00	10 / each	\$2,700.00		Υ
Product Code: Agency Notes:		Traffic	Manufacturer Offe ∴:TS-03-PLY-12-S-TV d:12 Months 8 weeks	ered : Pee	ek
Transportation Control Systems, Inc.	First Offer - \$1,922.00	10 / each	\$19,220.00		Υ
Agency Notes:			Manufacturer Offe		CAIN
		Delivery Days: 60			
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$2,111.50	Delivery Days: 60)		Y

OPN2115484B101-11 Back Plate for Programm	nable Visibility Tr	affic Signal 3 -sect	ion		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Transportation Control Systems, Inc.	First Offer - \$91.00	10 / each	\$910.00		Υ
Product Code: Agency Notes:		Product/Part No Warranty Offere Delivery Days: 60	Manufacturer Offe .: M52935 d: 2 YEARS	red: MCC	AIN
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$99.75	10 / each	\$997.50		Υ
Product Code: Agency Notes:		Product/Part No Warranty Offere Delivery Days: 60 FDOT Certification	Manufacturer Offe .: M52935 d: 2 years d days on No.: 650-022-002 SEC O.P.S. LOUVERED		
OB Traffic	First Offer - \$240.00	10 / each	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I Product/Part No Warranty Offere Delivery Days: 6- FDOT Certification	Manufacturer Offe .: TS-AL-12-03-S d: 12 Months 8 Weeks	red : Peek	Traffic

Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
PEEK TRAFFIC CORPORATION	First Offer - \$130.0	5 250 / each	\$32,512.50		Υ
Product Code: Agency Notes:		Supplier Notes: Product/Part No Warranty Offere Delivery Days: 60		red : PEEk	
Transportation Control Systems, Inc.	First Offer - \$150.0	250 / each	\$37,500.00		Υ
Product Code: Agency Notes:		Product/Part No Warranty Offere Delivery Days: 30	Manufacturer Offe .: M21657FL/M19263 d: 2 YEARS	red: MCC	:AIN
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$166.5	250 / each	\$41,625.00		Υ
Product Code: Agency Notes:		Product/Part No Warranty Offere Delivery Days: 6 FDOT Certificati	Manufacturer Offe .: M21657FL d: 2 years		ain
OB Traffic	First Offer - \$225.5	250 / each	\$56,375.00		Υ
Product Code: Agency Notes:			t Code: Manufacturer Offe .:TS-PLY-03-12-RS-TV	r ed : Peek	(Traffic

Broward County Board of County Commissioners

Exhibit 1 OPN2115484B1
Page 7 of 13

Warranty Offered: 12 Months Delivery Days: 6-8 Weeks FDOT Certification No.: NA

No led's Included

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PEEK TRAFFIC CORPORATION	First Offer - \$32.00	200 / each	\$6,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: 4000007 Supplier Notes: Manufacturer Offered: PEEK Product/Part No.: 4000007 Warranty Offered: 2 YRS Delivery Days: 60 FDOT Certification No.: 650-021-007			
OB Traffic	First Offer - \$50.00	200 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Product/Part No.: Warranty Offered Delivery Days: 6-8 FDOT Certificatio Back plate only	anufacturer Offer TS-12-03-AL-BP : 12 Months Weeks	ed:Peek	Traffic
Transportation Control Systems, Inc.	First Offer - \$65.00	200 / each	\$13,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: TRANSPORTATION CONTROL SYSTEMS Product/Part No.: BP-5003B-C Warranty Offered: 2 YEARS Delivery Days: 30 FDOT Certification No.: 650-021-015			
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$73.50	200 / each	\$14,700.00		Υ
Product Code: Agency Notes:		Product/Part No.: Warranty Offered Delivery Days: 60 FDOT Certificatio	anufacturer Offer BP-5003B-C : 2 years days		≣

OPN2115484B101-14 Back Plate 5- section In-Line for Aluminum Traffic Signal								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
PEEK TRAFFIC CORPORATION	First Offer - \$40.00	100 / each	\$4,000.00		Υ			
Product Code: Supplier Product Code: 4000009								
Agency Notes:			Manufacturer Offei	ed: PEEK				
		Product/Part No.						
		Warranty Offered						
		Delivery Days: 60						
		FDOT Certification	on No.: 650-021-007					

		1 490 0 01 10			
OB Traffic	First Offer - \$90.00	100 / each	\$9,000.00	,	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Peek Product/Part No.:TS-12-05-AL-BP Warranty Offered: 12 Months Delivery Days: 6-8 Weeks FDOT Certification No.: NA Back plate only			affic
Transportation Control Systems, Inc. Product Code: Agency Notes:	First Offer - \$120.00	TRANSPORTATION (Product/Part No. Warranty Offere Delivery Days: 30	Manufacturer Offere CONTROL SYSTEMS .: BP-5005B-C d: 2 YEARS		Υ
Airport And Commercial Equipment Suppliers, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$125.00	Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certification	Manufacturer Offered :: BP-5005B-C d: 2 years d days on No.: 650-021-015 E LOUVERED BACKPLAT	d:TCS	Υ

Supplier	Unit Prid	e Qty/Unit	Total Price	Attch.	Docs
PEEK TRAFFIC CORPORATION	First Offer - \$85.0) 50 / each	\$4,250.00		Υ
Product Code:	Supplier Produ	ict Code: S400057L W	2" TAPE		
Agency Notes:		• •	: Manufacturer Offe	red : PEEk	(
			lo.: S400057L W 2"TAPE		
		Warranty Offered: 2 YR			
		Delivery Days:	tion No.: 650-021-007		
		I DOT Certifica	111011 140030-021-007		
OD T #	First Offer - \$115.0) 50 / each	\$5.750.00		Υ
OB Traffic	First Offer - \$115.0		ψο,,, σοισο		
OB Traffic Product Code:	First Offer - \$115.0	Supplier Produ	, , , , , , , , , , , , , , , , , , , ,		
	First Offer - \$115.0	Supplier Produ	, , , , , , , , , , , , , , , , , , , ,	red : Peek	· Traffic
Product Code:	First Offer - \$115.u	Supplier Produ Supplier Notes Product/Part N	ict Code: : Manufacturer Offe lo.: TS-12-05-AL-C-BP	red : Peek	(Traffic
Product Code:	First Offer - \$115.0	Supplier Produ Supplier Notes Product/Part N Warranty Offe	ict Code: : Manufacturer Offe lo.: TS-12-05-AL-C-BP red: 12 Months	red : Peek	(Traffic
Product Code:	First Offer - \$115.0	Supplier Produ Supplier Notes Product/Part N Warranty Offer Delivery Days:	ict Code: : Manufacturer Offe lo.: TS-12-05-AL-C-BP red: 12 Months 6-8 Weeks	red: Peek	Traffic
Product Code:	First Offer - \$115.0	Supplier Produ Supplier Notes Product/Part N Warranty Offe Delivery Days: FDOT Certifica	ict Code: : Manufacturer Offe lo.: TS-12-05-AL-C-BP red: 12 Months 6-8 Weeks	red: Peek	(Traffic
Product Code:	First Offer - \$115.0	Supplier Produ Supplier Notes Product/Part N Warranty Offer Delivery Days:	ict Code: : Manufacturer Offe lo.: TS-12-05-AL-C-BP red: 12 Months 6-8 Weeks	red: Peek	(Traffic
Product Code:	First Offer - \$115.0	Supplier Produ Supplier Notes Product/Part N Warranty Offe Delivery Days: FDOT Certifica	ict Code: : Manufacturer Offe lo.: TS-12-05-AL-C-BP red: 12 Months 6-8 Weeks	red: Peek	< Traffic
Product Code:	First Offer - \$125.0	Supplier Produ Supplier Notes Product/Part N Warranty Offer Delivery Days: FDOT Certifica Back plate only	ict Code: : Manufacturer Offe lo.: TS-12-05-AL-C-BP red: 12 Months 6-8 Weeks	red : Peek	< Traffic
Product Code: Agency Notes:		Supplier Produ Supplier Notes Product/Part N Warranty Offer Delivery Days: FDOT Certifica Back plate only	ict Code: : Manufacturer Offe lo.:TS-12-05-AL-C-BP red: 12 Months 6-8 Weeks ation No.: NA \$6,250.00		
Product Code: Agency Notes: Transportation Control Systems, Inc.		Supplier Produ Supplier Notes Product/Part N Warranty Offer Delivery Days: FDOT Certifica Back plate only	sict Code: : Manufacturer Offe lo.:TS-12-05-AL-C-BP red: 12 Months 6-8 Weeks stion No.:NA \$6,250.00 act Code: : Manufacturer Offe		
Product Code: Agency Notes: Transportation Control Systems, Inc. Product Code:		Supplier Produ Supplier Notes Product/Part N Warranty Offer Delivery Days: FDOT Certifica Back plate only 50 / each Supplier Produ Supplier Notes TRANSPORTATIO	sict Code: : Manufacturer Offe lo.:TS-12-05-AL-C-BP red: 12 Months 6-8 Weeks stion No.:NA \$6,250.00 act Code: : Manufacturer Offe N CONTROL SYSTEMS		
Product Code: Agency Notes: Transportation Control Systems, Inc. Product Code:		Supplier Produ Supplier Notes Product/Part N Warranty Offer Delivery Days: FDOT Certificat Back plate only 50 / each Supplier Produ Supplier Notes TRANSPORTATIO Product/Part N	state Code: : Manufacturer Offe lo.:TS-12-05-AL-C-BP red: 12 Months 6-8 Weeks stion No.:NA \$6,250.00 act Code: : Manufacturer Offe N CONTROL SYSTEMS lo.:BP-5007B-C		
Product Code: Agency Notes: Transportation Control Systems, Inc. Product Code:		Supplier Produ Supplier Notes Product/Part N Warranty Offer Delivery Days: FDOT Certifica Back plate only 50 / each Supplier Produ Supplier Notes TRANSPORTATIO	stet Code: : Manufacturer Offe lo.:TS-12-05-AL-C-BP red: 12 Months 6-8 Weeks stion No.:NA \$6,250.00 act Code: : Manufacturer Offe N CONTROL SYSTEMS lo.:BP-5007B-C red: 2 YEARS		

Airport And Commercial Equipment Suppliers, Inc. [Ad] First Offer - \$156.00	50 / each	\$7,800.00	Υ		
Product Code:	Supplier Product	t Code:			
Agency Notes:	Supplier Notes: Manufacturer Offered: TCS				
	Product/Part No.	: BP-5007B-C			
	Warranty Offere	d : 2 years			
	Delivery Days: 60) days			
	FDOT Certification	on No.: 650-021-015			
	5 SEC METAL CLUST	TER LOUVERED BACKPLAT	TE (ASTRO)		
	W/REFL BORDER				

OPN2115484B101-16 Back Plate 5- section C	luster Spanwire	e Mou	ınt for Aluminum	Traffic Signal		
Supplier	Unit P	rice	Qty/Unit	Total Price	Attch.	Docs
PEEK TRAFFIC CORPORATION	First Offer - \$8	5.00	50 / each	\$4,250.00		Υ
Product Code: Agency Notes:		5 F V	TRAFFIC Product/Part No. Warranty Offered Delivery Days∶60	Manufacturer Offer : S800282 d: 2 YR	red : PEEK	
OB Traffic	First Offer - \$120	0.00	50 / each	\$6,000.00		Υ
Product Code: Agency Notes:		5 F \ 1	Supplier Product Supplier Notes: M Product/Part No. Warranty Offere Delivery Days:6-8 FDOT Certification	Manufacturer Offer : TS-05-AL-C-BP d: 12 Months 8 Weeks	red : Peek	Traffic
Transportation Control Systems, Inc.	First Offer - \$125	5.00	50 / each	\$6,250.00		Υ
Product Code: Agency Notes:		5 7 8 1	TRANSPORTATION (Product/Part No. Warranty Offered Delivery Days: 30	Manufacturer Offer CONTROL SYSTEMS, IN : BP-5021B-C d: 2 YEARS		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$156	6.00	50 / each	\$7,800.00		Υ
Product Code: Agency Notes:		\$ \ [F	Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certification	Manufacturer Offer : BP-5021B-C d: 2 years		ANWIRE)

OPN2115484B101-17 Back Plate 4-section Hawk									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
OB Traffic	First Offer - \$70.00	5 / each	\$350.00		Υ				
Product Code: Agency Notes:		Supplier Product Supplier Notes: I Product/Part No. Warranty Offered Delivery Days: 6- FDOT Certification	Manufacturer Offer .:TS-12-04-AL-HWK d: 12 Months 8 Weeks	red ∶Peek	Traffic				

Exhibit 1 OPN2115484B1

	County Commissioners Page 10 of 2			0 of 13	
Transportation Control Systems, Inc.	First Offer - \$140.00	5 / each	\$700.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:	Supplier Notes: Manufacturer Offered: TRANSPORTATION CONTROL SYSTEMS				
		Product/Part No.			
		Warranty Offere			
		Delivery Days: 30			
		FDOT Certification	on No.: 650-021-015		
	П		1	1 1	
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$166.50	5 / each	\$832.50		Υ
Product Code:		Supplier Product	t Code:		
Agency Notes:		Supplier Notes: Manufacturer Offered: TCS			
		Product/Part No.	: BP-4007B-H		
		Warranty Offered: 2 years			
		Delivery Days: 60 days			
		FDOT Certification No.: 650-021-015			
		4 SECT METAL CLUS	STER LOUVERED BACK	PLATE (AS	TRO)
		HAWK BORDER			

Supplier	Unit	Price	Qty/Unit	Total Price	Attch.	Docs
PEEK TRAFFIC CORPORATION	First Offer - S	\$77.00	100 / each	\$7,700.00		Υ
Product Code: Agency Notes:			Supplier Notes: I Product/Part No. Warranty Offered Delivery Days: 60	on No.: 650-001-006		(
Transportation Control Systems, Inc.	First Offer - \$	126.00	100 / each	\$12,600.00		Υ
Product Code: Agency Notes:			Product/Part No. Warranty Offered Delivery Days: 30	Manufacturer Offei .: M45712FL/M19271 d:2 YEARS	red: MCC	AIN
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$	156.00	100 / each	\$15,600.00		Υ
Product Code: Agency Notes:			Product/Part No. Warranty Offere Delivery Days: 60 FDOT Certification	Manufacturer Offer .: M45712FL d: 2 years		
OB Traffic	First Offer - \$2	265.00	100 / each	\$26,500.00		Υ
Product Code: Agency Notes:			Product/Part No. Warranty Offere Delivery Days: 6- FDOT Certification 12" Polycarbonate r or 4 section inline,	Manufacturer Offer .:TS-12-03-4-R-PLY d:12 Months 8 Weeks	ss, Traffic & Door, 3	signal

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PEEK TRAFFIC CORPORATION	First Offer - \$77.00	20 / each	\$1,540.00		Υ
Product Code: Agency Notes:		Supplier Notes: I Product/Part No. Warranty Offered Delivery Days: 60			(
Transportation Control Systems, Inc.	First Offer - \$143.00	20 / each	\$2,860.00		Υ
Product Code: Agency Notes:		Product/Part No. Warranty Offered Delivery Days: 90	Manufacturer Offe .: M22436/M19271 d:2 YEARS	red: MCC	AIN
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$156.00	20 / each	\$3,120.00		Υ
Product Code: Agency Notes:		Product/Part No. Warranty Offered Delivery Days: 60 FDOT Certification	Manufacturer Offe .: M22436 d: 2 years		
OB Traffic	First Offer - \$240.65	20 / each	\$4,813.00		Υ
Product Code: Agency Notes:		Product/Part No. Warranty Offered Delivery Days: 6- FDOT Certification 12" Polycarbonate T	Manufacturer Offe .:TS-12-03-4-PLY d:12 Months 8 Weeks	ction inline	٠,

OPN2115484B101- 20 Blankout Sign (Symbol)	LED No Left Turn				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
OB Traffic	First Offer - \$2,152.00	5 / each	\$10,760.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Product/Part Notes: Warranty Offere Delivery Days: 4- FDOT Certificati Signal tech (30H x 3	Manufacturer Offe .: 42913 d: 5 Years 6 weeks on No.: NA	e red : Sig	nal Tech
Transportation Control Systems, Inc.	First Offer - \$2,950.00	5 / each	\$14,750.00		Υ
Product Code: Agency Notes: New Price = \$2,650.00 due to Voluntary Price Reduction by Vendor			Manufacturer Offe CONTROL SYSTEMS, .: BO001 d: 2 YEARS		

	County Commission	FDOT Certificati	Page 12 o on No.: 700-012-012 NG HARDWARE. ALL SIZE	
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$3,090.00	5 / each	\$15,450.00	Υ
Product Code: Agency Notes:		Product/Part No Warranty Offere Delivery Days: 9 FDOT Certificati NO LEFT TURN SYN WIRE	Manufacturer Offered :: BO001(36x36)A2LS d: 2 years 0 days on No.: 700-012-012 //BOL, (2) ASTRO-BRACS M	/ITD, 4 COND

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
OB Traffic	First Offer - \$2,626.80	5 / each	\$13,134.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Product/Part Notes: Product/Part Notes: Product/Part Notes: 4-FDOT Certification Signal Tech (30H x 30H x	Manufacturer Offe .: 42912 d: 5 Years 6 Weeks on No.: NA	e red : Sig	nal Tech
Transportation Control Systems, Inc.	First Offer - \$2,950.00	5 / each	\$14,750.00		Υ
Product Code: Agency Notes: New Price = \$2,650.00 due to Voluntary Price Reduction by Vendor		Supplier Product Code: Supplier Notes: Manufacturer Offered: TRANSPORTATION CONTROL SYSTEMS, INC Product/Part No.: BO002 Warranty Offered: 2 YEARS Delivery Days: 90 FDOT Certification No.: 700-012-012 INCLUDES MOUNTING HARDWARE. ALL SIZES, 24X24, 30X30. 36X36			
Airport And Commercial Equipment Suppliers, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$3,090.00	Supplier Product Code: Supplier Notes: Manufacturer Offered: TCS Product/Part No.: BO002(36X36)A2LS Warranty Offered: 2 years Delivery Days: 90 days FDOT Certification No.: 700-012-012 NO RIGHT TURN SYMBOL, (2) ASTRO-BRACS MTD, 4 COND WIRE SP-1010FL24-120 ASTRO SIGN BRAC, 24" CTC, 120" S CABLE UP TO 36X36 W/ HARDWARE		, 4	

OPN2115484B101-22 Blankout Sign (Symbol), LED No Straight Through					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
OB Traffic	First Offer - \$1,650.00	2 / each	\$3,300.00		Υ
Product Code:		Supplier Produc	t Code:		
Agency Notes:		Supplier Notes:	Manufacturer Offe	red: Sig	nal Tech
		Product/Part No.: 100-CUST			
		Warranty Offered: 5 Warranty			
		Delivery Days: 4-	-6 Weeks		
		FDOT Certificati	on No.: NA		

Exhibit 1 OPN2115484B1 Page 13 of 13

	County Commission	Page 13 of 13		0113
		Signal tech (38H x 2	8W x 2.5D)	
Transportation Control Systems, Inc.	First Offer - \$2,950.00	2 / each	\$5,900.00	1
Product Code: Agency Notes: New Price = \$2,650.00 due to Voluntary Price Reduction by Vendor		2 / each \$5,900.00 Y Supplier Product Code: Supplier Notes: Manufacturer Offered: TRANSPORTATION SYSTEMS, INC Product/Part No.: BO047 Warranty Offered: 2 YEARS Delivery Days: 90 FDOT Certification No.: 700-012-012 INCLUDES MOUNTING HARDWARE. ALL SIZES, 24X24, 30X30. 36X36		
Airport And Commercial Equipment Suppliers, Inc. [Ad] Product Code: Agency Notes:	First Offer - \$3,090.00	Product/Part No Warranty Offere Delivery Days: 90 FDOT Certificati BLANK OUT SIGN "I	Manufacturer Offe :: BO047(36x36)A2LS d: 2 years 0 days on No.: 700-012-012 NO STRAIGHT STRO SIGN BRAC, 24" (

Supplier To	tals		
f Transpoi	tation Control Systems, Inc.	\$189,115.00 (22/22 items)	
Bid Contact	Gregory Tyska GTyska@tcstraffic.com Ph 813-630-2800	Address 1030 S 86th Street Tampa, FL 33619	Award
Agency Not	es: New Total = \$185,515.00 based on voluntary price reduction(s) to Items 20-22.	ry Supplier Notes:	Head Attch:
f OB Traff	С	\$198,631.00 (22/22 items)	
	Paul Omiyo obtrafficinc@outlook.com Ph 540-588-7625	Address ROANOKE, VA 24016	
Agency Not	es:	Supplier Notes:	Head Attch:
f Airport A	nd Commercial Equipment Suppliers, Inc. [Ad	g \$210,175.00 (22/22 ite	ems)
Bid Contact	Fadi Soubra fadisoubra@myacc.net Ph 954-755-9330	Address 3700 NW 124th Ave ste 1 dba A.C.E.S., Inc. Coral Springs, FL 33065	32
Qualification	S CBE DBE SB SBE SBE/CBE APPLICATION	N	
Agency Not	es:	Supplier Notes:	Head Attch:
PEEK TRAI	FIC CORPORATION	\$60,652.50	(7/22 items
	Chad M VanOrder al.quiros@peektraffic.com Ph 971-224-2612 Fax 941-962-5950	Address 5401 N SAM HOUSTON PKWY HOUSTON, TX 77086	W
Agency Not	es:	Supplier Notes:	